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‘NOTE:

1) Parts A and B are compulsory

© 2) Part-C has Two Questions Q8 and Q9. Both are compulsmy but with internal cholce
3) Any missing data may be assumed appropriately

Part — A ' [Marks: 02 each]
Q1. | |
a) Define a dependent voltage source with the help of a diagram.
b) Describe unit ramp function and exponential function.
¢) Describe maximum power theofem.
d) Calculate Laplace of coswot.
¢) Analyse series resonance.

1) Determine the values of A,B,C,D for transmission parameters.
Part - B ' [Mai‘ks: 04 each]
Q2. Explain transfer function representation with the help of a sultable 01rcu1t What 1S an
- ideal transformer.
Q3. Describe Initial and final value theorem of Laplace

Q4. Interpret open circuit paramcters in terms of short circuit parameters

Q5. For the circuit shown determine Norton’s equlvalent circuit between output terminals
AB. | S
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Q6. A 50Hz sinusoidal voltage v=311sinwt is applied to a RL series circuit. If the

magnitude of resistance is Sohms and that of inductance is 0. 02H. Evaluate 1he rms

current, instantaneous current, voltage dr Op across resistor.

Q7. Evaluate Laplace inverse of
5?+64

Part - C ‘ [Marks: 12 each]
Q8. Solve for Step response of RL series circuit with appropriate czircuit.
OR

Explain Superposition theorem, nodal analysis, Thevenin’s theorem.

Q9. The driving point impedance of a LC network is repmscnled by

, (s2+4)(s2 +25)
As)=5 s(s?+16)

Evaluate First and Second form of foster ‘
OR
The driving point impedance of a RC network is represented by

Z(s) =

Evaluate First and Second form of Cauer

(s*+55+4)
1 (s%+25)
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